DDCE-IS-CBCS-M.A(ECO)-I-(HET)R&B @

2017

Full Marks : 70
Time : As in the programme
The ﬁgures in the Iright hand margin indicate marks.
Answer questions according to General Instructions

~of each Section.

GENERAL INSTRUCTION :

Answer any three questions from Section—-A
(12x3=36), Word Limit-700-1000

Answer ariy three questions from Section—B

(8%3=24), Word Limit-500
Answer any two questions from Section—C

(5%2=10), Word Limit-300

- SECTION-A
(Answer any three) - 12%x3=36

I Criticélly examine the basic principles of
Physiocracy and how is it different from -

‘mercantilism. -

2. Critically examine the theory of value of Adam
Smith. - : '

3. Discuss the rise of socialist ideology.
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Critiéally éxamine ‘the devélopmént of Marginal
Utility 'Economics.,
Explain the points \of differencﬁes between Keynes
and Classicists. '
SECTION-B

(Answer any three) 8x3=24
Critically examine the lqading ideas of mercantilism.
Critiéally examine Say's law of market.

Discuss the Marxian Labour Theory of Value.

(C.ritic.all'y assess the contribution ’Vof Wickshell to

economic literature.

Critically examine Keynesian macroeconomic
model.

- SECTION-C ;
(Answer any two) 52710

Write a note on balance of trade according to

~ Physiocracy.
Who is J.S.Mill?

What is Austrian School? .
What is the economic thinking of Dadabhai Naroji?
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DDCE-IS-CBCS-M.A(ECO)-II—(PPF&FP)R&B @

2017

Full ‘Marks : 70
Tlme As in the programme

The figures in the rzght hand margm mdzcate marks.

Answer questions according to Generql Instructions

of each Section.

' GENERAL INSTRUCTION
Answer any three questmns from Section—A
(12><3—36), Word Limit-700-1000
Answer any three questions from Section—B
(8><3—24), Word Limit-500
Answer any two questions from Sectlon—C
(5%2=10), Word Limit-300 - w5

- SECTION-A
(Answer any three) » 12x3=3¢

L. What 1s public -good? How are they different from
- private good?

2. "Taxable capac1ty 1s a dim and confused- conceptlon .
Discuss.

3. Crltlcally examme Wagner S law of increasing state
~ activities.
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What is public borrowing? Discuss the effects of
public borrowing. :
Distinguish between balanced and unbalanced budget
and discuss their importance. .
' ~ SECTION-B

(Answer‘any three) 8§x3=24
"Budget is an instrument of economic policy."
Discuss. .

Discuss the justification of the imposition of wealth

tax.

Discuss the role of government in case of negative

externality.

Explain the principles of budgeting.
What ére the effects of public expenditure on
production? ;

: SECTION-C

Wfi‘pe short notes on (any twe): = 5x2=10

Excess burden of taxation. .

, Death Duty.

Programme budgeting.

~ Effect of Public expenditu_ré on employment.
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DDCE-1-S-CBCS-M.A(ECO)-II1 (Mic_ro'EcO)R&B'.*

T
Full Marks : 70
Time : As in the programme »
The figures in the right hand margin indicate marks.
Answer questions according to General Instructions of
: each Section. A
Answer any three questions from Section—A
(12%3=36), Word Limit-700-1000
Answer any three questions from Section-B
(8%3=24), Word Limit—500
Answer any two questions from Section—-C
(5%2=10), Word Limit-300
SECTION-A
(Answer any three) 12x3=36
1.  Given U=f(x,y), derive the equilibrium of a rational
consumer. | '

2. Critically examine the law of variable proportion.

3. Discuss the price and output determination under
perfect competition.

- 4. Discuss the loanable fund theory.
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DDCE-L-S- CBCS-MLA(ECO)-IV (Macro Eco)R&B ‘

2017
Full Marks : 70

Time : As in the programme
The figures in the right hand margin indicate marks.
Answer questions according to General Instructions of
each Section. :
Answer any three questions from Section—A
(12x3=36), Word Limit-700-1000
Answer any three (juestions from Section-B
i (8x3=24), Word Limit-500
Answer any two questlons from Sectlon—C
(5%x2=10), Word lelt—300
SECTION-A ,
: (Answer any three) 12536
1.  What are the déterminants of consumption function
other than income? .
2. Define marginal efficiency of capital. How is it
~determined? | : ‘ - :
3. TheIS-LM framework determines the simultaneous
~ equilibrium of the product and money market.
Discuss. ; »
4. Discuss the basic propositions of supply state
economics. i

5. . Criticaily explain Kalddr;s model of trade cycle.. »
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